DIVIDE 2-DIGITS BY
I-DIGIT ()







1) Complete the calculations

6+3= 60 -3 =

2) Complete the calculations
Q000 OO0
0000 OO0O0O
+ 2= 80 +2 =

3) Partition each number into tens and ones.

24 42 48
/N /N /N



1) Complete the calculations

6-3="2 60 3 =20

2) Complete the calculations
Q000 OO0
0000 QOO0
8+2=14 80 +~ 2 =40

3) Partition each number into tens and ones.

24 42 48
/N /N /N

20 4 40 2 40 38
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10+3= 13

( Calculate 2 x 23

96 +~ 3 = 32

23
N\ =
20 3 "'
2X20=40 2X3=6
40 + 6 = 46
30 2

30+2= 32

White

Maths



o Tuey 2

Have a go at questions
1 - 6 on the worksheet




30+ 3 =33

White

Maths



Ron and Jack each have a packet of sweets.
There are 18 sweets in each packet.

They want to share the sweets equally with Mo.

How many sweets will each boy have?

Have a think m




Ron and Jack each have a packet of sweets.
There are 18 sweets in each packet.

They want to share the sweets equally with Mo.

How many sweets will each boy have?

18 + 18 = 36

Each boy will have 12 sweets.

10 2
10+ 2 =12
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Have a go at the rest of
the questions on the @

worksheet




